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N.B.: (1) Question No. 1 is compuisory.
(2) Attempt any four questions out of remaining six questions.
(3) Ali guestions carry equal marks (20 each).

1. (@) Compare linear and switched mode regulator in terms of efficiency, switching, 5
losses, regulation, power handling capacity and size. - |
(b) Write short note on transconductance amplifier. 5
(c) Compare different classes of amplifier based on operating cycle, position on Q point 5
and efficiency. '
(d) Difference between clipper and clamper. 5

2. {a) For circuit shown in figure, determine the type of feedback of the circuit, Ry, R, 10
and A, (h, =1KkQ, h, =50, neglect the h , and h
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(b) Draw the block diagram of IC 723 and explain each block. 10

3. (a) Discuss Miller compensation and how it can be used to amplifier having 10
unstable characteristics.

(b) What is heat sink ? What is its function A BJT rated power of 15 W and a maximum 10
junction temperature of 175°C. The ambient temperature is 25°C and the
thermal resistance parameters are—

Ocnrams = 4°C/W and 0, ., = 1°C/W.
Determine the actual power than can be safely dissipated in the transistor.

4. (a) Draw and explain the working of Non-Inverting Op-amp. Derive the expression 10
for its closed loop voltage gain.
(b) Draw the circuit diagram for following with values of component using Op-amp. 10
(i) Inverting amplifier gain of 5.
(il Non-Inverting amplifier gain of 22.
(iif) Buffer amplifier.
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5. {(a) Design transformer coupled class A power amplifier to provide 5 W output 12

to 8 Q load.
(b) Determine load current in voltage to current converter. 8
\ O l( IR )
!O{'( 52 {
’ <
\T - -V Vo

6. (a) Draw the circuit diagram of colpitts oscillator. Derive expression for frequency 10
of sustained oscillations. Determine condition to be satisfied for sustained

oscillations. _
(b) Draw and explain instrumentation amplifier using Cp-amp. 10
7. Write short note on (any two) :— 20

(a) Practical Differentiator.
(b) Nyquist stability criteria.
(c) DC to DC converter.
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